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Reading & Speaking Practice Lesson #54

Story

Nowadays, the population of Japan is decreasing.

As a result, many companies are having difficulty
finding enough employees.

Some experts that workers from other
countries could be a solution.

Some companies hire these workers, and by doing so
they try to deal with the shortage of employees.

It is likely that the number of foreign workers will
increase in the future.

Vocabulary
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Questions & Sample Answers
[For coaches: Please teach by “DUAL METHOD” ]

1) Why are many companies having difficulty finding
enough employees?
Because the population of Japan is decreasing.

2) What do some experts suggest could be a
solution?
They suggest that workers from other countries
could be a solution.

3) How do some companies try to deal with the
shortage of workers?
By hiring workers from other countries.

4) What will likely happen in the future?

The number of foreign workers will increase.

5) Are there many foreign workers in your city?
Yes, there are. | see many foreigners in my area.

Copyright © eTOC-surely work-All Rights Reserved



41

42
43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

This document is for use in eTOC training sessions, use outside of eTOC is strictly prohibited.

No, there aren’t. | rarely see anyone from
overseas.

6) Would you want to work in a foreign country?
Yes, | would. But | think there are few jobs for
people who aren’t fluent in the language.

7) What do you think of more and more foreigners
living in Japan?
| think it is fine if they try to adapt to Japanese
society and don’t cause problemes.

8) Why is it important to address the problem of
Japan’s population decreasing?
Because not only is the population decreasing, but
the average age in the country is becoming older.
Without a strong working population, society will
not be able to continue.
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